EARAROBEEIERT — 2 N— IBISH —F 20185F2H20H (k) 26mEHMH3A

m C1 H¥5%4m®Lt (xwlw | lmEmml - |5 ) 0w 8
[A&4£] 1 7% :500,000 3 ~ 23#&:140,000 @ ~ 33#&:70,000  ~ 43#&:50,000™ . 5 3&:40,000 @
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. . KEE 254, -1-1- . - FERE (BA
11111 AN, T R 4 4 & 1(5_4)0 1-1-1-1 | 39.4 1 AEZ;) ME%*) §{>
RZFA4d—IV K B:a9I14VT47 ARXRETa—-T7—L4h
3 = 44 | EREE 1:54.1 9-9-2-2 |39.0| — 2 493 | AREREL (EM)
2|78 | 7>/ - — 6.0 (172 3 | HAE
L:T7LrFFE2T B:TOTFCR BORYUS
S 4t 4 | BF 1:54.6 5-5-3-3 | 39.7| — 3 549 | HTEERE (HH)
] 4| TRIA 57.0 3 (1) | POEERA
AT RN B F -G EESAN ¢
4 5 | EEK 1:55.8 7-8-7-7 | 40.5| — 4 460 | BEERER (EH)
48|10 Fy—FI—w 5.0 & o |EERE
N> T—I— BT Yo7 eZHhTT7— L
Ty A — 4 6 | KEA 1:55.8 3-3-4-4 |41.0| — 7 453 | WEEH (FER)
5 2| Ty Ty R 56.0 (F4<) @) | B TEREb
R:F2728) BY=Z—HA KTy T HET77—»4L
. A B -56. —11-0— . — EBHEZ (BE)
6179 SH—%>LA— 4 6 575.0” 1(526)1 11-11-9-9 | 40.4 8 (4_7; S
L:77NTZT BINTqIN—7T BB
K 4 6 | TEE 1:56.2 4-4-5-5 | 41.3| — 5 454 | EBETThE (FERR)
ZH 711727 54.0 (1/2) (cg) | EIBEE
x> vv¥/x€¥% BVET IR
— = 4 5 | FEEL 1:56.6 2-2-6-6 |41.8| — 9 445 | HER (FElH)
glg|n| 17—t =51 54.0 @ 1/2) (o) | EAAIE]
L:b—€>TS54 b0 B:b—trELZT 7 RS IXT7177—L4
=TFE— -56. —10-11— . — HHER (A
9 6| TLA—LIIZ b # o9 BT 1(756t)7 10-10-11-11] 41.2 11 :1_7; o
L:2¥2Y3Y BYLILTY e 4335
o q s 4 | WEBEX 1:56.9 8-7-10-10 | 41.6 | — 10 | 446 |REES (EH)
1055 | T v ¥ 5.0 (3/4) Co | W0 77—z heva
R:7UF—-v B:¥rv7U AR i
N BEET : —6-8- — HeER (FEh)
"’ gl A AL T—0 i 6 BEEn 1.;527>.2 6-6-8-8 | 42.1 6 ;1_224) ,ﬁ%}z
L:XFAd=IK B:dzXr)—=LT 1 (B) #A3—-RKL—va>aEr7r
® I —F—@EBIERL
13—F— 1,11,2,7,4,3,10,5,8,6,9
20—F— 1,11,2,7,4,3,5,10,8,6,9
Jol=5r= 1,8,4,2,7,11,10,3,9,5,6
40—+ — 1,8,4,2,7,11,10,3,9,5,6
[ N3
BB 1 230H 714K 1-8 160H % E 1-7 360M 3EHE 1-4-8 270M
8 B 1 120 1-4 160M B & 1-8 370M K31 1-8-4 1,540M
8 140 4-8 1908 | | B & 1-8 610M
4 130M4

ABICOVWTRDTEEERROODE. TR LIV,




